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however, will be made if no response is indicated for an item
in the Answer Sheet.

There is only one correct response for each question in Part I
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FRBEJeduealdons natural numbers and

for aeN, aN denotes the set {ax : xeN}.
If bN N cN=

numbers greater than 1 and the greatest

dN, where b, ¢, d are natural

common divisor of b and c is 1, then d

equals :

(1) max{b,c}
(2) min{b,c}
(3) bc

(4) b+c

If z is a complex number of unit modulus
and argument 60, then the real part of
z(1 - 2)

zZ(1+ 2) is :

0
1 1+ cos —
) )

0
2) 1- —
(2) sm2
0
3) —2sin”®
©) >
0
4) 2cos®
4) cos” o

If the roots of the equation
1 1 1
+

X+p x+q r are equal in magnitude

and opposite in sign, then the product of
roots is :

1) (p*+q?
) % (p*+q%)
(3) - % (p*+q?)

_ l ( 2 _Educational Material Downloade
(4) 2 P —q et CBSE Notes, Video Tutorial

H from htt //wwaev
5, Test P:i rs&Saer Pap s

Part I / ¥ T I
Mathematics / Ut

1.

AT N Wihd G&mstl 61 9= € a7 aeN &
foiT aN wq= {ax : xeN} ST T
BN N cN=dN T, &b, ¢, d 13 T
WTehd TEATE € 9T b T ¢ 1 He<H THIdh
1%,?ﬁd?ﬂlﬁl'{%:

(1) max{b,c}
(2) min{b,c}
(3) bc

(4) b+c

afe 7 T Gy T § fS9et adis 18 qen

1_%
We%,ﬂ“r?(1+26mqlwchh TR
1 1+ COS%
(2) 1—sing
oein2
(3) 2 sin >
4) 2coszg
Ifg T
1 1

1
T T % g § 99 € qen

x+p x+q r

fawia fo=el & €, 1 ol 1 R & :

1) (p*+9?
2) % (p*+q%)

(3) - l (p*+q?)

rth|g




4%‘ @Xﬁ ?égtbei\l, where N is the set of

FREE dugatl?gﬂ://www.iitscholars.com

natural numbers, then (S,)" (S,) !, for

neN, is :

1D Son+k-1
(@) Syry ko
®) Sy,
(4)  Son-—«k

1 a b
In a AABC, if |1 a=0, then
1 b ¢

o

sin2A + sin?B + sin2C is :

9
M 3
5
O
G 2
@

Suppose that six students, including
Madhu and Puja, are having six beds
arranged in a row. Further, suppose that
Madhu does not want a bed adjacent to
Puja. Then the number of ways, the beds

can be allotted to students is :
(1) 264
2) 480

4 384 Get CBSE Notes, Video Tutorig

(2)
(3) 600 Educational Material Downloadg
(4)

Ifq 9Tpd FEAE & §Y=E N & fag

k
Sk:EII B, keN &, @ neN & fau
b 1

(S (S 17 :
1) Sop+k-1
2 S

2"+ k-1
(4) S2n—k
1 a b
T% AABC B, afe |1 ¢ a4/=0 %, @
1 b ¢
sin2A + sin2B + sin2C ¥ :
n 2
o
n 2
@
3) 2
33
® =

A B: forenfer, 9 7y 9o gen wfmfaa
£ & U9 T Ui H afed ©: fae g1
3R 9Y, IS & Herw aren fo) T8l =, o
ot el 9 a8 foeR faenfe=i i feu s
THd T, ST I GEATE :

(1) 264
(2) 480

d from h@p}://w%)\/\(/).evidyarthi.in/
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30 coefficients of powers

th 1 ici
i é‘?)‘lﬂ ) mal expansion of (1+x)59

10.

EREE Education
(1) 229

(2) 228

(3) 259 _ 9129

(4) 258

If

48
— +
2.3

—E+K§l+—+1
3

47

3.4

%y 241

45 48.49

49.50
+ Ot — 1

50 H then
K equals :

-1

1
2 —5

logy2, log;y (2*—1) and log;, (2*+3) are

three consecutive terms of an A. P. for :

1) noreal x

2) exactly one real x

3) exactly two real x
4) more than two real x.
Let f(x)=(x+1)2—1, x= —1, then the set

x: f)=f~1)} :
1) is an empty set
contains exactly one element

3) contains ekduthfiarabMdtatieitlgwnloade
Get CBSE Notes, Video Tutorial

4) contains more than two elements.

7. (1+x)% % fgug y9R ¥ a1f<aw 30 W& & x &
HTdl o T[T T AR
(1) 229
(2) 228
(3) 259 _ 9229
(4) 258

8. dafg
48,7 6 o0 1

3 3.4 4.5 48.49 49.50
—E+Kﬁl+—+;+mﬂ+ Oﬁ%’;ﬁ
K aI0eR ¢
@ -1
@ -

2
G) 1
(4)

9. x % o ANl & AT log, 2, logy, (2*—1)
M log, (2% +3) Tk FHIT &l o i HATTA
wE?

(1) x % Tt ot ameafaes @@ o fag 72
(2) x % haA TH aARI(IR AH % forw |
(3) x % Hhad T ARKTAF Al h AT |
(4) x% I Ay arafasw 7 & faw)
10. AM fx)=(x+1)2-1, x= -1 &, @ Tq=A

x: fl) =)} :
(1) T T o= 2
2) ¥ haa TH 9 T

i from hi)//wW e yartsiad ¢ |

5, Test Pa(%rs %a&;p&m}e& aTrrE ¥
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10
o B
.0
@ g8
G) @,
4)  (e,®)
g 1

12.

13.

—  if|q>2
Let f0=0 ,
qu + b if | <2

then f(x) is differentiable at x= —2 for :

1) a:%andb:—li6

(2) a=—%andb=%

(3) aziandb:—%

(4) a= %andb:%

If f(x) = (x—p)(x—g)(x—r), where

p < q < r, are real numbers, then the
application of Rolle’s theorem on f leads

to:
(1
(2

(p+q+n?=3(qr+rp+pq)
(p+q+72 > 3(qr+rp+pq)

Educationa Matgrial Download

)
) )

(3) (p+q+n?<3(gr+rp+pg)
)

(4)  (p+q+r)%(gEetEBSENYtes Video Tutoria

11.

12.

13.

fix)=1x log, x|, x > 0 f5r8 s § wsfew

PUAAE, TE T ¢
1

W A
0 .0
® g8
B) @,e
(4) (e,x)

2L a2
am f(o=0
H+ bx 3 ] <2

g, @ x= —2 | fx) ATFAE T, I

(1) a:%?lﬁﬂb:—%
(2) a=—iﬂ?ﬂb=%
(3) a=iﬁ%b=—%
(4) azzﬂi’ﬂb:%

e fx)=(x—p)(x—g)(x-r) T, S&
p<q<ranfas dem € @ f I F
THI % STIIAR 9§ THerd € ¢

(1) (p+q+n?=3(qr+rp+pq)
2) (p+q+r)?>3(gr+rp+pg)
3 (p+q+r?< 3§qr+rp+w)

ed from http://www.evidyarthi.in
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15.

16.

‘ ]é\ﬂggjafafsﬁh}r—le, where x; and x,

are nct real numbers. Then the

IFLI%%ET Efq)l'!)(fﬁg%r’gwhich f(x) is minimum,

1 1

2 2

®) 3

(4) more than 3

If J'—l_ 5sin’x 4o FO) L hen
cos® x sin® x c0s® x '

f(x) is : http://www.iitscholars.com

(1)

2)  cosec x

—cosec x

cot x

4) —cot x

ex

1+ ¢°

If f(x)=

7

f(@)
I = J’ x gl x (1=x)} dx and

f(=a)
f@)
I gl x (1-x)} dx’
f(=a)
where g is not an identity function. Then

I
the value of 1. is :
1

12=

—~

N

N—
}—\I\)Nl,_\

Educational Material Downloadée
Get CBSE Notes, Video Tutoria

14.

15.

16.

d from h‘(

AT fix)=|x—x;| +[x—x,| &, Sidl Xy A9 x,
MW f) FAR AU R, T

) 1
) 2

3) 3
)

—_~ o~ o~
N

39 fye

+C 8,

5 sin?
'qﬁij'l Ssin“x . _ f(;c)

cos® x sin® x cos” x

fx) SR E

(1)  —cosec x
) cosec x

(3) cot x
)

—cot x

ex

1+ ¢F

Ifg f(x)=

7

f(@)
I = x glx (1=x)}dx Qe
f(-a)
f(@)
I gl x (1-x)} dx £
f(-a)

o , I
el ¢ Ueh dqcqHF el e 8, faﬂqﬁ

K

Izz

1
¥ 5
2 2
g))://wva.evidyarthi.in/
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17. The area bounded by the curves y2=12x | 17. @shl y2=12x A° x2=12y % o= R &=rkat
and x2=12y is divided by the line x=3 in W, W@ x=3 §R I WFI § Fiel 0§l IS
two parts. The area (in square units) of the 91T 1 &ARE (T el H) T
larger part is:
1 147 v 7
@ % 2 %4
@ 17 @ 137
@ 2 @ 2
18. Consider the differential equation, | 18. HTHAT HHIHIU ydx — (x +y2)dy =0 T
ydx— (x +y%)dy=0. If for y=1, x takes fomm wifsT) Afq y=1% fau x 1 71 1%,
value 1, then value of x when y=4is : Wy=4 AU xFAH T :
® 9 1 9
(2) 16 (2) 16
(3) 36 (3) 36
(4) o4 (4) o4
19. The locus of the mid points of the chords | 19. e x2=4py i Sitanstl, 6! &1 m g,
of the parabola x?=4py having slope m is o wex fogsti @ fog 99 :
a:
(1) line parallel to x-axis at a distance (1) Teh Y@1 © S x-3781 & T © 901 399
|2pm| from it. 12pm| 1 T W R
(2) line parallel to y-axis at a distance (2) T @ S y—\?HH%FWfHT%\'ﬂﬂTB'H@
|2pm| from it. 12pm| 1 T W R
(3) line parallel to y=mx, m#0 at a B)  y=mx, mz0 % HHIR @1 T q1 3HY
distance |2pm| from it. 12pm| & T W
(4) circle with centre at origin and (4) T g & 5191 ohg 7 g & qen i
radius |2pm|. 12pm]| 71
K/Page 7 SPACE FOR ROUGH WORK / T% &Td & faq sme
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20. If the point (p, 5) lies on the line | 20. 3afE fdg (p, 5) Tw a1 W feord T S y-3181 &
parallel to the y-axis and passing through HHTTL ? adgn LECIE i
the intersection of the lines 2(@?+1)x+by+4(a3+a)=0 a1
2(a2+1)x+by+4(a3+a)=0 and (@ +1)x—3by +2(a3 +a)=0 % Fidesg fag
(a?+1)x—3by+2(a3+a)=0, then p is '@WW%,??[;?WW%:
equal to :
1) —2a 1) -2a
(2) —3a (2) —3a
(B) 2a (3) 2a
(4) 3a (4) 3a
21. If a circle has two of its diameters along | 21. I TH EN & T A e x+y=>5dA
the lines x+y=>5 and x—y=1 and has x—y=1% 37U § a2 T &% 97 %,
area 9m, then the equation of the circle is : @ 3T I HT FHFW T
(1) x?+y’—6x—4y—3=0 (1) x2+y’—6x—4y—3=0
(2) x*+y?—6x—4y—4=0 (2) x’+y?—6x—4y—4=0
(B) xX+y’—6x—4y+3=0 (B) x2+y’—6x—4y+3=0
(4) x*+y?—6x—4y+4=0 4) x*+y?—6x—4y+4=0
22. Let P be a point in the first quadrant lying | 22. HI P, 9™ Iqie &1 U&T foig T S 3 g
on the ellipse 9x%+16y?=144, such that 9x2 +16y2 =144 9T feord g am <l ga *
the tangent at P to the ellipse is inclined at foig P X @i T3 T99f Y@ x-318] S ¥R
an angle 135° to the positive direction of faem & | 135° H HO FAC €, 9 P &
x-axis. Then the coordinates of P are : frderen
(V143 10 V143 10
1 o7 - 1) O 0
0 3 40 0 3 40
) 8 77 . ) B 770
2) % 3 § (2) % "3 0
3 04 30 04 30
®) B35’ 7H ®) Bz %H
16 90 6 90
@ G5 3H @ Hs 'sH
K/Page 8 SPACE FOR ROUGH WORK / T% &Td & faq sie
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23.

A variable plane is at a constant distance
p from the origin O and meets the set of
rectangular axes OX; (i =1, 2, 3) at points
A; (i=1,2,3), respectively. If planes are
drawn through A, A,, Az, which are
parallel to the coordinate planes, then the

locus of their point of intersection is :

O wtuteTy

23.

Teh =) HHdd qaifog O § Tk TR g p W
@Al § SR eI el o T 9=
OX;(i=1,23) & f6gai A, (i=1,2 3) W
FARN: Yfdes] w21 AR AL, A, A ¥
frcyTier THael o TG 9Hqd ©id o ©, a1

Tk gfaese fig w1 fag uar @ -

L, 1,11 L1 11
2 2N T Ty R R
(2) x% x% xg p (2) x% x% x% p
1,111 1,1 11
3 3 37 3 33 T 3T 3
®) X1 X X3 P ©®) X X X3 p
4) x% +x§ +x§:p2 4) x% +x§ +x§=p2
) x—4 y—2 z—\ ex—4 y—2 z-N\
24. If the lines T = 3 and | 24. 3fg @ T ] 3 LR
+2 +2 .
% =7 > = i intersect each other, then % =7 > = i TR gfassgt %, A 5"
\ lies in the interval : A e §, a8 /-
1) (=5-3) (1) (=5-3)
2) (13, 15) @) (13, 15)
3) (11, 13) 3) (11, 13)
4) (9 11) 4) (9, 11)
K/Page 9 SPACE FOR ROUGH WORK / T% &Td & faq sme
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25. Unit vectors ;, 1;/ Z are coplanar. | 25. ek 9ieyl ;/ 1;/ Z A B Teh HIHh
A unit vector d is perpendicular to them. gfesr 4 4 9T d99d 2 7fg
e O 0 0 e N O O
If(a X b)x(c X d)=li—lj+fk (a X b)x(c X d)zli —lj+fk ?
6 3 3 6 3 3
and the angle between 2 and b is 30°, A 5 qA p F A= H B 30° T c
then Z is/are : %/%:
o O O OO0 O 0g
+%—i =27 + ZkE +D—i -2j + 2k
(1) _ﬁ 3 ﬁ (1) _ﬁ 3 ﬁ
O 0O O 00 0O 0Q
S2i+j—k% Ri+ j— k(g
() ﬁ 3 ﬁ () ﬁ 3 E
t u O g O O
i+ 2j — 2kp) i+ 2j — 2k
3 = 3 B = 3
] ] ] ]
a o 0O O o d
D—Zz’—2j+k% %—2i—2j+k%
@ ; @ :
] ] ] ]

26. A Dbiased coin with probability [ 26. T& HAf97a faswt, faud faw s =1
p, 0 <p <1, of heads is tossed until a head WfIhdl p, 0 < p <18, T o ISTEAT [ B,
appears for the first time. If the probability ST9 a fob gt ar foa 7 e S Afs 38T
that the number of tosses required is even T YA ®T €& §H g R g
is 25,the1r1 p is equal to : %%,?ﬁpw%:

o % M )
@ % @
6 Y ® Vi
@ % @ %

K/Page 10 SPACE FOR ROUGH WORK / T% &Td & feuw s
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27.
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If the mean and the standard deviation of
10 observations xy, x,, ......, X are 2 and 3
respectively, then the
(x;+ 12 (+ 12 ... , (X0t 1)2 is equal

to:

mean of

27.

Tt 10 Y& xp, Xy, .oy Xq BT HIET QAT
o9 fg=wdd w9 2 991 3 €, qi
(x1+1)2, (x2+1)2, ...... , (3c10+1)2 ST HIEY

g

(1) 13.5 (1) 13.5
(2) 144 (2) 144
(3) 16.0 (3) 16.0
(4) 18.0 (4) 18.0
28. A vertical pole stands at a point A on the | 28. a1 a1 T& aiTa Uk it TRETAT W e
boundary of a circular park of radius a and fig A W T SeAleR W @l § i giEt
subtends an angle « at another point B on F T T g B W &IV o Fafkd w3 T
the boundary. If the chord AB subtends Jfq SiraT AB g UTeh o g T I o AR
an angle a at the centre of the park, the Il %, T Hi §zt{|§ 2
height of the pole is :
1) 2a sin% tano 1) 2a sin% tano
2) 2a cos% tana (2) 2a cos% tana
(3) 2a sin% cota (3) 2a sin% cota
a o
2 — cot 2 — cot
(4) a cos— cota (4) a cos— cota
K/Page 11 SPACE FOR ROUGH WORK / T®% &Td & faq g
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29.

3
LetT<9<’ﬂ' and

\/200t0+ 12 =K — cot 0
sin“0 !

29.

W%<6<w%am

\/2cot9+ 1 =K—cot 0 %
.2 )
sin“o

then K is equal to : WK IR T
1 -1 1 -1
2) 0 2) 0
e % ® )
4 1 4 1
30. Letp and g be any two propositions. 30. HMI p AT g HIE <1 A& & |
Statement1: (p > gq) <> gv ~pisa HIT1: (p > q) < g v ~p TH I8 &
tautology.
Statement 2 : ~(~pAq) A (pVv g) & pisa HAT2: ~(~p A ) A (p Vv q) <> p Th TR
fallacy. gl
(1) Both statement 1 and statement 2 are (1) oA 19 HAF 2 A §A g
true.
(2) Both statement 1 and statement 2 are (2) A 1A HYF 2 AT FEA g
false.
(3) Statement 1 is true and statement 2 (3) HhIYT1HA T T HUA 2 A T
is false.
(4) Statement 1 is false and statement 2 (4) U1 ATA ¥ AU FHUA 2 A T
is true.
K/Page 12 SPACE FOR ROUGH WORK / T% &Td & faq sie
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Part II / 9T II
Aptitude Test / 3fr&far adieror

Directions : (For Q. 31 to 34). Find the odd figure out in the problem figures given below :
Fdor: (931 @34 & fw)1 79 &1 7 397 srplas & T faog s7fd Fard |

- Y 4 R0
B G B

\h\ ~
33. \l\u\(l \\]\L

) (2) (3) 4)
34. < .
1) () (3) 4)

Directions : (For Q. 35 to 37). The 3 - D problem figure shows the view of an object. Identify, its correct
top view, from amongst the answer figures.

f[E9r: (W35 @37 & @) | 3- D 97 3Tpla 7 T &g &l f3@rar 77 &1 39 g1 SR 599, I

Sl § T TEana

Problem Figure | F97 STld Answer Figures / 3t 377}'7%/’97
L] —
@) 2) (3) (4)
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Problem Figure | F97 STld Answer Figures / 3 3775’?7?/27?'

36. [ [ [ [

37. ] ]

(1) (2) () (4)

Directions : (For Q. 38 and 39). The problem figure shows the top view of an object. Identify the
correct elevation, from amongst the answer figures, looking in the
direction of arrow.

fdor : (7 38 3iT39 & f@ )1 3w 3l o Gt aag 1 SW1 g9 fe@rar 7 &1 @ #i fowr F
IET GU SR SHIa 4 G 59%] g TG 599 YgAT |

Problem Figure / Answer Figures | SR ST
5 ST
VAN |
| [ I L]
f M) @ ® @

s (O

f 1) @ ©) "
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Directions : (For Q. 40 and 41). How many minimum number of straight lines are required to draw
the problem figure ?

AT : (W 40 3iv41 & for@ )1 719 51 78 797 swiapfa & 997 & 70 F7 G F, fha de s
&1 STITHA & ?

Problem Figure / 97 371l
40.

1 11 ) 10 3) 9 4) 12

41.

1) 18 2) 19 (3) 20 4) 21

Directions : (For Q. 42 to 45). The 3 - D problem figure shows a view of an object. Identify the
correct front view, from amongst the answer figures, looking in the
direction of arrow.

FEor: (T 42 @45 F @)1 3-D F97 317 4 TF 97g & U G99 1 [o@rar T 81 ik &1 19
4 3@d §U, 39% Ta THE 599 &I I Hlad 4 & T/
Problem Figure / F97 37Iehid Answer Figures / 3tX 377}7%/277

42. L] I [] []
]
(2)
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44. @ L |_|:‘\E;7 L] ]
. ] ] ]
1) @) ®) 4)
@ HH HH HH b=
b 0

Directions : (For Q. 46 and 47). How many total number of triangles are there in the problem figure
given below ?

9T : (W 46 37iv47 & fow )1 719 31 75 797 i 7 Ay 1 o7 G fohal &7

Problem Figure / 97 3Tl

46.

1 11 2) 12 (3) 10 4 9
47.

1 12 2 13 G) 11 4) 14
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Directions : (For Q. 48 to 50).

e : (748 ® 50 & for@)1

Problem Figure | F97 STld

Which one of the answer figures is the correct mirror image of the
problem figure with respect to X - X ?

SR SPI H @ F SFI G TE T AT B X - X G A
et Ty gfafera & 2
Answer Figures / 3 STt

(1) (4)

X
48.
X
X
. X S
X
X
|
50. |
X

Directions : (For Q. 51 and 52).

AT : (W 51 3iiT52 & o)

Problem Figure | F97 STld

M

(2) 3) (4)

The problem figure shows the elevation of an object. Identify the
correct top view from amongst the answer figures.

e SFHIT 7 R3] g ] T g9 @l T €1 SR SAlaa 4
T 591 T&T I GV T
Answer Figures / 3 STt

3)

. T

1)

(2) 3)
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Directions : (For Q. 53). Which one of the answer figures will complete the sequence of the three
problem figures ?

FE9r: (T.53 & @)1 IR Spfadl & @ &7 G STFid & a7 97 Hladl 7 T G 7759
(sequence) T & ST 2

Problem Figures /| F97 Hfaar Answer Figures / 3T Scaced
5. %A % ? R LA
(1) ) ©) (4)

Directions : (For Q. 54 and 55). Which one of the answer figures, shows the correct view of the 3 - D
problem figure, after the problem figure is opened up ?

9T : (7. 54 355 & @)1 3 - D T¥7 3Th1a &1 @icrd W, ST a9l 4 G G&l g9 HiT qr 8 ?

Problem Figure | F97 3Tld Answer Figures / 3t 37757"7%277

54.% CHD G G GO

—
o
~
~~
N
~
—~
W
~
—~~
e~
~

B S S S S

3) 4)
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Directions : (For Q. 56 to 61). Find out the total number of surfaces of the object, given below in the
problem figure.

f[E9r: (.56 @61 & @)1 797 3Tpfa 4 fF=aifea avg & Gagl 1 Fo1 G&7T F1T FITT |

Problem Figure | F97 3fhld

1) 14 2) 15 (B) 17 4) 16
57. @

1) 15 2) 16 (B) 14 4) 13
58. %

1) 15 2 12 (3) 13 4) 14
S

1 11 2 12 (B) 14 4) 15
K/Page 19 SPACE FOR ROUGH WORK / T% &Td & faq sme

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



& eVidyarthi

FREE Education

Problem Figure / 97 STl

60.

—~~
—
N

15 )

61.

—~
—
A

13 )

Directions : (For Q. 62 and 63).

fdor : (7 62 3 63 & few )1

Problem Figure / 97 371l

62. P

A

—~
st
~

16 3) 14 4) 13

12 3) 11 4) 10

One of the following answer figures is hidden in the problem figure,
in the same size and direction. Select, which one is correct ?

79 & TE W Bl F G TH SFlT 99 SR fevr 7 gHrT w9 9
gv7 Tl d fodt &1 #i7 & w8l & gwi

Answer Figures / 3tX SWW

4 [

() ®) (4)

T <
(4

(2) ©)
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Directions : (For Q. 64 and 65). The problem figure shows the top view of objects. Looking in the
direction of arrow, identify the correct elevation, from amongst the

answer figures.

fE9r: (7 64 3l 65 & @)1 T97 3mpfa & aegsil &1 ST 597 fe@rar 791 81 ] %1 foon 7 a@a
8T S Pl 4 & 9% T&l T 5 Tea1q/

http://www.iitscholars.com
Problem Figure | F97 STld Answer Figures / 3T 3'77?97%27?'

SN
§§ o U

o |0 _[14T] aEil

(3) @)
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66. Who among the following is not an | 66. 378 ¥ HIA-TT ARGHR TG ¢ 7
architect ?
(1) Zaha Hadid (1) SEIEaR
(2) M.F. Hussain (2) TA.TE A
(3) Hafiz Contractor (3) THIS FIwFR
(4) Raj Rewal (4) TS @

67. Fatehpur Sikri was built by : 67. g Hih hl ST o :
(1) Jahangir (1) SR
(2) Akbar (2) 3T A
(3)  Humayun (3) T
(4) Shah Jahan (4) e A

68. Which one of the following is a sound | 68. 3TH ¥ HIA-I, e TEdl et € 2
reflecting material ?
(1) Thermocol (1) oHiHA
(2) Jute cloth (2) YSHT k1 HUEl
(3) Glass 3)
(4) Fabric (4) <hUSl

69. Buckingham Palace is located in : 69. dfehem dor el feod T2
(1) Paris 1) ded
(2) London (2) weTd
(3) Geneva (3) SHarH
(4) Singapore (4) fETRH

70. What secondary colour is obtained by | 70. il &R @@ T &1 9@ § fHe™ | i
mixing blue and red colours ? oy (secondary) 1 fietm ?
(1) Pink 1) et
(2) Purple (2) ST
(3) Orange (3) A
(4) Brown 4) U

71. Lotus Temple in Delhi was built by : 71. foeedt %1 efeq Af< forem sAmn a2
(1) Jews (1) =gieai
(2) Jains 2) SfEia
(3) Bahais (3) mEsAl
(4) Muslims (4) HHfaH A
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72. Which one of the following material | 72. AR &l F9H & fau, fr=Aifea 5 | I
cannot be used in its original form for T SO e SRR H ST T8l R S
construction of walls ? Tha ?
(1) Fly ash (1) = T
(2) Basalt (2) w9
(3) Laterite (3) HERE (TAeE2)
(4) Granite (4) UTEE

73. Green architecture is promoted these days | 73. 7 foAi 3Ra areqehen =1 Uicamga faam Sl 7
because : Hifh
(1) It costs less initially (1) 99 9 H &9 @9 B g
(2) It is environment friendly (2) I TAER H g ?
(3) Itlasts longer (3) ¥R I TS TAGT §
(4) Greenis a good colour (4) B0 TH 71T g

74. What is texture ? 74. WA FE?
(1) A solid colour (1) T&w3™
(2) A type of shape (2) Ueh TE =l 3R
(3) Lines drawn in one colour (3) & TTH @R TS el
(4) The way a surface looks and feels 4) 99 7@ % w0 fead iR wegy B

€

75. Which one of the following is not an | 75. f=ifed gral § 9 siE-a e fatiee 82
earthquake resistant structure ?
(I) RCC framed structure (1) RELH. %F & g
(2) Load bearing brick walls building (2) 9R U AT g2l i AR Hi TARA
(3)  Steel framed building (3) I % %H | o+l TR
(4) Timber framed building (4) S & WA | Il TARG

76. Which one of the following is an odd | 76. T=iferd & @ =ien ¥q=ra A« Tl @ra ?
match ?
(1) Deforestation - Climate change (1) oF-STqUqU - ey Iied
(2) Ozone layer - UV rays (2) SIS &1 Wa - g9, fReo
(3)  Shrinking Polar Caps - Earthquake (3) et It st faged - gy
(4) Tsunami - Oceanic Earthquake (4) GAH - HEEERE g
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78.

79.

80.

7{* Wi_dyl@gﬂipidustrial buildings have

ﬁ@é@ﬁl ed glazing on the North side ?
) ucaion

To get bright sunlight throughout the
day.

(2) To stop the workers from looking
outside.

(3) To get uniform shadow - less light
through the day.

(4) Because the sun stays on the North
side throughout the day.

Which one of the following is an odd
match ?

(1) Hot and Humid - Chennai
(2) Cold and Dry - Ladakh
(3) Temperate - Shimla

(4) Hot and Dry - Jaisalmer

Which one of the following is not a
matching set ?

(1) Sundarbans - Mangroves

(2) Varanasi - Ghats
(3) Jaipur - Canals
(4)

4) Udaipur - Lakes

Which one of the following is not a
matching set ?

(1) San Francisco - Golden Gate Bridge
2)  Washington - White House

()
(3)  Egypt - MississtRinbN¥erial Downloade
(4) England - 16eDRvniiesesyidae Tutorial

77.

78.

79.

80.

eI ST TaRAl | 39 i SR fown ¥ 3=
T T A AT ST ?

(1) 90T 9@ *F o= e O % fae

(2) HTH HT T H FRI @A F Yk &

fa
(@) 9 A % waH fod B o AeE
o fau http://www.iitscholars.com

(4) ifE gd S fewm § o o7 war @

T O HE-91 9= B el @ ?

(1) TR 3R 9 - =%

(2) 3R Y@ - AW

(3) ¥AI (Temperate) - e

(4) TR 3R @I - SAHAR

freifera § 9 H-91 9= Ao el ST ?

1) G - HE

(2) AU - =

(3) SPI - Te

(4) AR - it

fr=ifra & @ ®H-91 9= B T @ ?

(1) 9 wifEEH! - Meed e fos
(2) AT - =TEe BSH
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1 3| 26
2 3 27
R 28
4 s | 29
s | 1 | 30
e | 2 | 31
B 4 | 32
s | 1] 33
9 | 2 | 34
10 | 3 | 35
R 2 | 36
12 | 1| 37
13| 2 | 38
14 | 4 | 39
s | s | 0
16 | 2| a1
17| 1] 2
18 | 2 | 43
19 | 2| 4
20 | 1] 45
a1 | s | 46
22 | s | 47
23 | 2| 48
24 | 3| 49
25 | 3 | s0
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